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(3) (F4)=(1—tan’0)(1+tan’@)cos’d + sec’d

= (1—tan@)sec?dcos*0 + sec’d

1 ;
=(1—tan’f) - —5~ - cos’0+sec’d
cos™0

= (1—tan’0)+sec’d
=1+ (sec®d—tan’9)
=14+1=2

3

32) Ae 0

—_

1

Socosl =t ——
V10

sosinf = tanfcos =+ ——

s.sinflcosf = (ii)x +
10

<tEFol>

tand > 094 6= A| IAFEH = A 3AHEHL] Zbo]al, tanf=30]R2 QLEZE

3 1
sosinf cosl = |+ —— X |+ ——
v 10 10
3 -
=1 (FrEEE)

33) A+ (1) 1(2) 1

) ( 1\ 1V 1\
ind———|, -, ——— 9| & zZ+z}
sin osf ) (tan@ -7 ) (c059 o 0) = 44

AN F ke e

. . 1\
(1) (smaf.—) = sin%0 — 2sinf X — L
sinf sinf  sin%
=sin’0—2+ — 5
sin“0
(i) (ta@ ! )2 tan’0 — 2t ex—l 41 29— 9+
n———-| =tan"0— = -
tant T tan0 " tan® an tan’0
1\ ) 1 1
(iii) [cosf———| = cos’@ —2cosh X ——+ ———
cosf cost  cos?0
=cos’0—2+ 12
cos’f
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1 2
. 06— _
(Sln 7COS€ )

1 \? 1\
tanf — —) + (cos@ - —0)
coS

tand
s 1 ) 1 ) 1
=sin"0—2+— —[tan“@—2+ 5 | T |cos0—2+ 5
sin tan“0 cos 0
1 1
=sin®0—2+ — 3 —tan®0+2— -+ cos’0—2+ 5
sin“d tan cos 0
1 1 1
= sin®0 + cos®0 — tan’0 + — T T T2
sin‘® tan’® cos@
1
I sin®0+cos?d =1, o~ = tan’f+10]B%
cos 0
1
=1—tan’0+1+tan’0+——— —5——
sin“d  tan“@
.t 1
sin’0  tan’f
.2 2
tan0 = sin“d olma 1 _ cos’d
cos?0 tan®0 sin’f
_ 1 cos’d
sin’0  sin’0
_ 1—cos’0
sin’0
sin0+cos’d = 1, 1—cos’0 = sin’0 o] L&
.9
0
= STHZ =1
sin’@
1 1 1 1
2 (14— )(1+ )(1— , )(1— )
(2) ( sinf cost sinf cosf
1 1 1 1
=1+ — 1—— 1+ 1—
( sinf )( sinf )( cost )( 0059)
1 1
i )
sin“d cos 0
_(sin20—1 )(cos29—1)
sin’0 cos’0
sin®0+cos?0 = 1 o] P&
2 )
_ ?OSQX 51210 _1
sin0 cos” 0
243
34) 4y 2V3
3
inf
tanf = 2122 o] &
cosf
1 sinf  cosf
o+ ——=
tan tané  cosf  sinf
_ sin’0 + cos?0
sinfcos 6
sin®0+cos?0 = 1 o] B &
— 1 —
sinfcosf
“ sinfcosf= -
.. sinfcos 5
" sinf 6*l
.. sinf cos 5
(sin@+ cos8)* = sin 20+ 2sin 8 cosh + cos*d
L ]
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2 4
=1+2si =l4+-==
+2sinfcosf + 53
2 243
cosinf +cosh = —== ——
V33

23
o 22
35) A4 o7

(" sin® >0, cosf > 0)

OJA WA A 327 —20+k=09 F 0] sinb, cosfO] EZ 3} A5 BA] )

2
sinf + cosf= 3

k
3
Q9] g3 AFsid

4
sin0 + cos’0 + 2sinfcosd = 9

sinfcosf =

Th
[0

4
sin®0+cos?0 =1°] & 1+ 2sinfcosh = )

. __ 5
. sinfcosf = 18
k 5
-0 olm M2
O=© °JB= 3 18

. sin®0+ cos’0= (sinf+ cosh)® — 3sinfcosh (sinb + cosh)

_(2V 5) 2, ..
-[3)-s) 3 0@
8 5 23

“awte T

36)4% (1) @ (2) —% (3) —1

(1) sin780° =sin(360° x2460°)

V3
2

=sin60° =

(2) cos(—120°)=cos120° =cos(90° +30°)
1

=—sin30°" =—

2
(3) tan315° =tan(360° —45° )=tan(—45")

=—tan45’ =—1

37) A% (1) % (2) —@

13 ks
() sm?w—sm(%r—i— 6)

. T 1

- SIHE— 5

17 5
(2) cos—= = cos(27r+ Ew)

6
5 T T
—COSEF—COS(5+§)
sm3 5
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38)AY -3

V2
4

SlH6 CoSs 47T an 3 ™

2
cos%w-i—tan(ﬁhr—% E”)

T 2
I+
COS( T+ 1 )+tan 3 s

T T
= cosertan(w 3)

T
COS4 ElIl3

2
s

O I Y O N = T,

39) A (1) —¥

1

(2) —v2

1

(3) V3

5
(1) cosecom=

3 .5 . ( .71) .
SlH37T sin{spe 3 51n3
1 23
VB 3
2
3 1 1 1
(2) sec—m= = =
4 3 AT
cos COS(?T 4) cos
1
-2
-5
7 1 1 1
(3) cot—m= = =
tanzﬂ' tan(7r+ 1) tanE
6 6 6
1
-1 -
V3
+
40) zérélf#
08390 ° = cos(90° X4+30° )= cos30 :g
(an300° = tan(90° X3+30° ) = cot30° =— 3
sind20° =sin(90° X4+60°)=sin60" :TS
sin210° =sin(90° x2+30° ) =—1sin30 ==
cot150° = cot(90° X1+60° ) =—tan60° =— /3
cos(—300° ) =c0s300° =cos(90° x3+30°)
BT
=sin30" = 5
3 \2 1y,
(T) +(=V3) (—5) +(=V3)
C(FAR ) = +
3 T
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D=4t ME / MATH NAVIGATOR / 7 4444 “=StmA / 010-3096-2574 i" Tl

Tel = 0I0-3096-25T4



| e By I e |
3—4+v/3 1-443
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23 2
V3—4 1-443
=Ty T

_—3-3V3 _ 3+3V3
2 2

41) AF@
T, o1
. COS(E“’E)**SIHE* 5
. TN T V3
sm(7r+§)— sino=———
1 1
L. cosec(——0) = = = secl
2 LT cost
sin(=—49)
2
1 1
sec(2r—0) = = = sect

cos(2m—0)  cosf

3
= tan900t(577+ 6) = tanf(— tanf) =— tan0

42) A" —sind— cost

sin(—6)+cos(90° +6)+sin(180 " — )+ cos(0—180° )
=—ginf—sinf+ sinf + cos(180 ° —0)

=—sinf — sinf + sinf — cosf

=—sinf — cosbf

3+3v3
43) zg%l _7‘/—

2
08390 ° = cos (90" X4+30° )= cos30° :@
tan300° = tan(90° x3+30° ) =— tan;O" 3
sin420° =sin(90° X4+60°)=sin60" :g
sin210° =sin(90° x24+30° ) =—sin30° :_é
; : =—tan60° =— /3

tan150°  tan(90° x1+60°)
cos(—300° ) = c0s300° =cos(90° x34+30°)

=sin30° =%
3\ 12
(F4d A = +
3 1
T2 2
:374\/§+174\/§
23 2
\/5—4+1—4\/§
2 2
-3-3vV3 _ 34+3V3
N 2 N 2
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44) A1

sin320° =sin(360° —40° )=—sin40°

c0s130° = cos(90° +40° )=—sin40 "
sin(—220°)=—sin220° =—sin(180° +40° )=sin40 "
tan(—315° )=—tan315° =—tan(360° —45°)=tand5° =1
~sin320° +cos130° 4 2sin(—220 ° )+ tan(—315°)
=—3ind0° +(—sin40° )+2sind0° +1=1

5) AT (Mo (0 (31
Foldl Autzte
nm

£0(ne A%, 0% o7

o] B2 Hyste] A4 Ry B3 E mpHh
(1) (i) tan(270° —6) =tan(90° x3—0) o] A

foi

S5 A~
32 EF =» tan—>——

tan
270° =0 3AREH O] 7t = oot o FE= +
1
-' - - 0 = 0
tan(270° _9) tan

(ii) cos(180° —@) =cos(90° x2—0) ol A

27 & = cos—cos

180° —0 & A2AMEHS] 7 = 059 o= —
= cos (180 — ) =— cost

(iii) cos(—8) °llA]

=0 A4AREHS] 2 - ocos o] HEE +
= cos(—=6) = cost

(iv) tan (180° +6) =tan (90" x2+0) o A
27 ®4 = tan—tan

180° +60 = ABAREWS] 7} = tan o] H-&
. tan(180° +6) = tanf

ukebA (i)~(iv) o 2]8}o]
(£2))=tanf(— cosf) + cosftand

=0

i

+

2) () sin(gw): sin ol A

s
—x1+0
2 +

12 &5 = sin—cos

%—&-9% A2 AHEHE] 7} - gino HEIE +
. Sin(%+9)= cost

(i) tan(w+6):tan(g><2+0 of| A

2% B4 = tan—tan

T+0= ABAEHE 7t - tan o] Ho= +
-~ tan(r+6) = tanf

(iii) cos(g-i-O): cos(%XH—ﬁ ol A

1& &5 = cos—sin

T+0E A2AHERY] 7 - o5 o] BEE -

2
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| = Ry B |
cos(%—k&):— sinf
. 1
(iv) - of] A]
sin(EXIfG

o )
12 &9 = sin—cos

%—HE ALAHEHS] 7} - gin o H3= +
1 _ 1
sin(ﬂm—o) cosf
2
w2k (i)~(iv)ell 2|t
= . 1
(£2)) = cosf— tanf(—sinf) — ——
cost
2
sin“@ 1
= cosf + -
cos cosf  cosb
in%0—1
= cosf4+ Y2
0sf
— cos*0
= cosf + < sin®0+cos’0=1
cost
=0

(3) (i) cos(n+a>=cos(g><z+o)

2% A4 = cos—cos

m+0E ASAHEHE] 7} m o5 o] HT
. cos(m+6) =— cosb

rir
I

(ii) sin(%w—‘—@):sin(gX&ﬁ-G)
32 &4 = sin—cos

Sr0E AR 7 = sing] REE -

3
sin(5w+ 0):— cost

(iii) cos(w—&):cos(gX2—0)
25 A4 = cos—cos
=0 A2AREHS 7} = s HFIE -

. cos(m—0) =—cosf

(iv) sin(r+86)= Sin(%X2+9)

2% B = sin—sin
7+0% ASAHEAS 7} = gin 9
. sin(r+60) =—sind

4o

fol

rir
I

(v) tan(r—0)= tan(%X?*G)

2% B = tan—tan
=05 A2AEHY] 7 = tan 9
. tan(m—60) =— tanb

1

fol

rir
\

(vi) COS(%W“’G): cos(%X 3 +t9)

. )
3 =4 = cos—sin
3

STto= A4EHe] 7zt - cos o F5

s
\
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2
webA (D)~(vi)ell 2 sho]

2= — cosf —sinf(—tanf)’

3
cos(fﬂ' + 9): sinf

(=

—cosf (— cost)* sinf
— cost —sinftan?d
2 + :
— cosfcos™0 sinf

1
= 5 — tan’f
cos”d

tan0+1 = ol

cos’0

=tan’0+1—tan0
=1

46) AH 0
sin(4r—0)+ cos(%w+ 0)
- sin(%—k 6)— cos(0—)

=—sinf + sinf — cosf + cosf =0

91
47) A >

cos(90—0) =sinfd Y& ©]&3}]

cos0°, cosl”, cos2” -+, cosdd” & W3

cos0° =cos(90° —90° ) =sin90°
cosl’ =cos(90° —89° ) =sin89 "
c0s2° =cos(90° —88° )=1sin88 "

cosd4 = cos(90—46 ° ) =sind6
o5 FojF 2o tdstd

c0s”0° + o8l +cos?2° ++ -+ 05”89 ° + c0s%90
= sin 290+ sin’89 + sin’88 +---+ c0s*89 + c0s”90

= (5in90+ c0s%90) + (sin?89 ° + c0s289) ++--
+ (sin®46 + cos’46) + cos45 °
sin®0+cos?0 =102 &

1 1 91
=14+14+F1+—=45x1+—="F
1+1 1 B) 45X 1 B) B)

48) (1) 4—25 (2) 1

sin5°, -+, sind3 " & WA

sinl® =sin(90° —89° ) = c0s89°

sin3” =sin(90° —87° ) =cos87"
) =cos85°

sinb® =sin(90° —85°

sin43° =sin(90° —47° ) = cos43°

~osin®l° +sin%3° +sin®5° +-+-+sin’87° +sin’89°
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a1 aT [
= 0589 " + 08”87 * +¢0s°85 " + - +sin’87° +sin’89° = (cos’89 " +sin’89 " )+ (cos’87 * +sin’87 ")
+o-4(cos™3 " +sin™3 " ) +sin*45° = 1+1+~-+1+%:22><1+%: %
2271
(2) tan(90° —0) = ! A& o]&3to] tanl”, tan2”,

tanf
tan3°, -+, tandd* & WP3HA
1

tanl® =tan(90° —89° )=

tan89
tan2° =tan(90° —88° )= L
tan88
tan3° =tan(90° —87° )= L
tan87
tandd” =tan(90° —46° )= L =
tan46
ootanl® Xtan2” Xtan3® X---X tan88 " X tan89 °
1 1 1

= — X — X — X+ X tan88 * X tan89 "
tan89 tan88 tan87 tan tan

X tan88 °

><tan89°)><(t

- ( tan89 ” an88°

1
X | ————X%tan46 ~ |} tan4b°
( tand6 tan ) tan
=1X1X---X1=1
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